
Számolás az 5-ös
számkörben

Készítette: Gyányi Ibolya



2010.07.04. Gyányi Ibolya

  0  +   2   =  2



2010.07.04. Gyányi Ibolya

03  -  = 3



2010.07.04. Gyányi Ibolya

0    +    4   =  4



2010.07.04. Gyányi Ibolya

11  -  = 0



2010.07.04. Gyányi Ibolya

2  +  1  = 3



2010.07.04. Gyányi Ibolya

21  +  = 3



2010.07.04. Gyányi Ibolya

3   +  1  =  4



2010.07.04. Gyányi Ibolya

2  +  2  = 4



2010.07.04. Gyányi Ibolya

2  +  3  = 5



2010.07.04. Gyányi Ibolya

3  +  0  =  3



2010.07.04. Gyányi Ibolya

0  +  0  = 0



2010.07.04. Gyányi Ibolya

3  +  2  =   5



2010.07.04. Gyányi Ibolya

4  +  0  =   4



2010.07.04. Gyányi Ibolya

40  +  = 4



2010.07.04. Gyányi Ibolya

5   -   0   =  5



2010.07.04. Gyányi Ibolya

4  +  1  =   5



2010.07.04. Gyányi Ibolya

1    +    3   =  4



2010.07.04. Gyányi Ibolya

5  +  0  =   5



2010.07.04. Gyányi Ibolya

0    -    0   =  0



2010.07.04. Gyányi Ibolya

2   -   0   = 2



2010.07.04. Gyányi Ibolya

2   -   1   = 1



2010.07.04. Gyányi Ibolya

3   -   3   =  0



2010.07.04. Gyányi Ibolya

3   -   2   = 1



2010.07.04. Gyányi Ibolya

4   -   0   =  4



2010.07.04. Gyányi Ibolya

4   -   1   = 3



2010.07.04. Gyányi Ibolya

4   -   2   = 2



2010.07.04. Gyányi Ibolya

10  +  = 1



2010.07.04. Gyányi Ibolya

3   -   0   = 3



2010.07.04. Gyányi Ibolya

4    -   3   =  1



2010.07.04. Gyányi Ibolya

5   -   1   =  4



2010.07.04. Gyányi Ibolya

3   -  1  =  2



2010.07.04. Gyányi Ibolya

0    +    5   =  5



2010.07.04. Gyányi Ibolya

5   -   2   = 3



2010.07.04. Gyányi Ibolya

0  +  1  = 1



2010.07.04. Gyányi Ibolya

5    -   3   =  2



2010.07.04. Gyányi Ibolya

3   -   1   = 2



2010.07.04. Gyányi Ibolya

5   -   5   =  0



2010.07.04. Gyányi Ibolya

0   +  0  =  0



2010.07.04. Gyányi Ibolya

0   +  1  =  1



2010.07.04. Gyányi Ibolya

0  +  3  =  3



2010.07.04. Gyányi Ibolya

3   -  3  =  0



2010.07.04. Gyányi Ibolya

0  +  4  =  4



2010.07.04. Gyányi Ibolya

1   +   0   = 1



2010.07.04. Gyányi Ibolya

0  +  5  =  5



2010.07.04. Gyányi Ibolya

1   +  0  =  1



2010.07.04. Gyányi Ibolya

1   +  1  =  2



2010.07.04. Gyányi Ibolya

2   -  2    = 0



2010.07.04. Gyányi Ibolya

1   +  2  =  3



2010.07.04. Gyányi Ibolya

1   +  3  =  4



2010.07.04. Gyányi Ibolya

1   +  4   =  5



2010.07.04. Gyányi Ibolya

2   +  0  =  2



2010.07.04. Gyányi Ibolya

2   +  1  =  3



2010.07.04. Gyányi Ibolya

2   +  2  =  4



2010.07.04. Gyányi Ibolya

2   +  3  =  5



2010.07.04. Gyányi Ibolya

41  +  = 5



2010.07.04. Gyányi Ibolya

5    -   4    =  1



2010.07.04. Gyányi Ibolya

3   +  0  =  3



2010.07.04. Gyányi Ibolya

3   +  2  =  5



2010.07.04. Gyányi Ibolya

4   +  0  =  4



2010.07.04. Gyányi Ibolya

3  +  1  =   4



2010.07.04. Gyányi Ibolya

5   -  5  =  0



2010.07.04. Gyányi Ibolya

4   +  1  =  5



2010.07.04. Gyányi Ibolya

5   +  0  =  5



2010.07.04. Gyányi Ibolya

00  +  = 0



2010.07.04. Gyányi Ibolya

20  +  = 2



2010.07.04. Gyányi Ibolya

30  +  = 3



2010.07.04. Gyányi Ibolya

50  +  = 5



2010.07.04. Gyányi Ibolya

01  +  = 1



2010.07.04. Gyányi Ibolya

2   -  2  =  0



2010.07.04. Gyányi Ibolya

02  -  = 2



2010.07.04. Gyányi Ibolya

1   -   0   = 1



2010.07.04. Gyányi Ibolya

1   -   1   = 0



2010.07.04. Gyányi Ibolya

4   -  1  =  3



2010.07.04. Gyányi Ibolya

11  +  = 2



2010.07.04. Gyányi Ibolya

4   -   4   =  0



2010.07.04. Gyányi Ibolya

31  +  = 4



2010.07.04. Gyányi Ibolya

4   -  2  =  2



2010.07.04. Gyányi Ibolya

14  -  = 3



2010.07.04. Gyányi Ibolya

23  -  = 1



2010.07.04. Gyányi Ibolya

5   -  0  =  5



2010.07.04. Gyányi Ibolya

02  +  = 2



2010.07.04. Gyányi Ibolya

04  -  = 4



2010.07.04. Gyányi Ibolya

5   -  4  =  1



2010.07.04. Gyányi Ibolya

12  +  = 3



2010.07.04. Gyányi Ibolya

22  +  = 4



2010.07.04. Gyányi Ibolya

32  +  = 5



2010.07.04. Gyányi Ibolya

03  +  = 3



2010.07.04. Gyányi Ibolya

2 + 0 = 2



2010.07.04. Gyányi Ibolya

35  -  = 2



2010.07.04. Gyányi Ibolya

13  +  = 4



2010.07.04. Gyányi Ibolya

23  +  = 5



2010.07.04. Gyányi Ibolya

04  +  = 4



2010.07.04. Gyányi Ibolya

14  +  = 5



2010.07.04. Gyányi Ibolya

05  +  = 5



2010.07.04. Gyányi Ibolya

1    +    4   =  5



2010.07.04. Gyányi Ibolya

1   -  0  =  1



2010.07.04. Gyányi Ibolya

33  -  = 0



2010.07.04. Gyányi Ibolya

1   -  1  =  0



2010.07.04. Gyányi Ibolya

2   -  0  =  2



2010.07.04. Gyányi Ibolya

0   -  0  =  0



2010.07.04. Gyányi Ibolya

2   -  1  =  1



2010.07.04. Gyányi Ibolya

3   -  0  =  3



2010.07.04. Gyányi Ibolya

0    +    3   =  3



2010.07.04. Gyányi Ibolya

24  -  = 2



2010.07.04. Gyányi Ibolya

3   -  2  =  1



2010.07.04. Gyányi Ibolya

4   -  0  =  4



2010.07.04. Gyányi Ibolya

55  -  = 0



2010.07.04. Gyányi Ibolya

4   -  3  =  1



2010.07.04. Gyányi Ibolya

4   -  4  =  0



2010.07.04. Gyányi Ibolya

0  +  2  =  2



2010.07.04. Gyányi Ibolya

5  -  1  =  4



2010.07.04. Gyányi Ibolya

5   -  2  =  3



2010.07.04. Gyányi Ibolya

5   - 3   =  2



2010.07.04. Gyányi Ibolya

00  -  = 0



2010.07.04. Gyányi Ibolya

01  -  = 1



2010.07.04. Gyányi Ibolya

05  -  = 5



2010.07.04. Gyányi Ibolya

15  -  = 4



2010.07.04. Gyányi Ibolya

45  -  = 1



2010.07.04. Gyányi Ibolya

44  -  = 0



2010.07.04. Gyányi Ibolya

13  -  = 2



2010.07.04. Gyányi Ibolya

1  +  1  = 2



2010.07.04. Gyányi Ibolya

12  -  = 1



2010.07.04. Gyányi Ibolya

25  -  = 3



2010.07.04. Gyányi Ibolya

  1  +   2   =  3



2010.07.04. Gyányi Ibolya

22  -  = 0



2010.07.04. Gyányi Ibolya

34  -  = 1


